SECOND YEAR HIGHER SECONDARY MODEL
EXAMINATION, FEBRUARY 2025
Part - 111
SOCIOLOGY
Maximum : 80 Scores

Time : 2% Hours
Cool-off Time : 15 Minutes
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General Instructions to Candidates :

* There is a ‘Cool off time ' of 15 minutes in addition 1o the writing time,

» Use the “cool off time ' to get familiar with questions and to plan your answers.

* Read questions carefilly before answering.

* Read the instructions carefully.

= Malayatam version of the questions is alse provided.

« Calculations, figures and graphs should be shown in the answer sheet itself.
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L. Answer any 9 questions from 1 1o 10, Each carries | Score,

(AN G

Score

(9x1=9)

1) Name the Sociologist who described the concept ‘Dominant Castc’.

2) Which of the following is an example of cultural diversity in India ?

a) Different languages spoken in various States
b) Single uniform religion followed by all
c¢) Similar food habits across regions

d) Homogeneous dress code for everyone

3) The digital platform where individuals can buy and sell things are known

as

4) Pick the one which were NOT a British Presidency.

5)

6

~—

a) Bombay

b) Madras

¢) Delhi

d) Calcurtta

Sociology teach us how to look into ourselves ‘from the outside’. This is known
as

Scientific Management was introduced by

a) Adam Smith

b) Frederick Winslow Taylor
¢) Karl Marx

d) Max Weber
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7) The aggressive chauvinism based on religious identity is called .

8) Which among the following States marks the lowest child sex ratio ?
a) Punjab
b) Haryana

¢) Unarakhand
d) Himachal Pradesh

9) Which among the following is an example of Agrarian Movement ?
a) Jharkhand Movement
b) Kallumala Agitation
c) Thebhaga Movement
d) Mahar Movement

10) The traditional political system of the tribal group Khasis is known as

I1. Answer all questions from 11 to 15. Each carries 2 Scores. (5x2=10)
11) Write a short note on Glocalisation.

12) Categorise the following into Social Change and Social Movement.

Brahma Samaj, Sanskritization, Right to Information Campaign, Westernisation

Social Change Social Movement
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13) Explain Home based work with examples.
14) Who introduced the coneept of status symbol ? Define the term status symbol.
15) Write the importance of secial justice in society.
IIL. Answer any 3 questions from 16 to 19. Each carries 4 Scores. (3%4=12)

16) Explain Commodification with examples.

17) Explain the following :
a) Weightless economy
b) Transnational Corporations.

18) Describe sociological imagination. Write down any two merits of sociological

imagination.

19) Distinguish between Orpganised and Un-organised Sectors.

IV. Answer any 3 questions from 20 te 23. Each carries 5 Scores. (3x5=1%)

20) Differentiate between industrialisation and de-industnialisation.

21) Summarise the powers and responsibililies of Panchayats.

22) Explain the importance of Civil Society. List down any four issues taken up by Civil

Societies in the contemporary world.
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23) Match the following

T

Score

a)

Mahatma Gandhi

Widow Remarriage

b)

Kaka Kalelkar

Sati

<)

M.G. Ranade

Harijan

d)

Tarabai Shinde

First Backward Class Commission

e)

Raja Ram Mohan Roy

Stree Purush Tulana

V. Answer any 3 questions from 24 to 27.

Each carries 6 Scores.

(3x6=18)

24) Differentiate between sanskritisation and de-sanskritisation. State any two criticisms

posed against sanskritisation.

25) Explain the impact of globalization on mass media in India.

26) Elucidate the diverse forms of family on the basis of authority,

27) Define the terms social inequality and social exclusion, Narrate

women’s equality and rights.

the
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VL. Answer any 2 questions from 28 to 30, Each carries 8 Scores. (2x8=16)
28) a) Describe the agricultural modernisation which led to Green Revolution

in India. (@)

b) Explain the social consequences of Green Revolution. L]

29) a) Explain different types of social movements with examples. (4)

b) Analyse the importance of Chipko Movement in the ecological sustainability.  (4)

30) Analyse Malthusian theory of population growth. State criticisms levelled against

Malthusian theory of population growth. (6+2)
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